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V(£ =5min) =0,925mmol [ 1.5 : & Jelasl) duoz=ll ac,uudl 0gSs t=5min akb=ll xic
v(t =30min) =0,323mmol [ 1.5 : sa Jelal) dox=dl ac,udl UgSs t=30min akb=ll xc
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R.T
-3
nco,) =0~
2476,38

t(s) 10 20 30 40 50 60 70 80 90 | 100

n(CO;)mmol | 0,50 092 | 134| 166| 197| 225| 246| 2,64| 2,80 2,89
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t(s) 10 20 30 40 50 60 70 80 90 | 100

n(CO;)mmol | 0,50| 092 134| 166| 197| 225| 246| 2,64| 280 2,89

X(mmol) | 0,50 0,92 1,34| 166| 197 2,25| 246| 2,64| 2,80 2,89

x=F(t) oluoll b> _ 3
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Cr,0"(aq)/ Cr* (aq)
Cr,07 (ag) +14H" (aq)+ 6" = Zr* @g )+ ™H,0 ()
CO,(ag)/ H,C,0,
2CO,+2H" (aq)+ 2 =H,C,0, @q)
x3 H,C,0,(aq) =2CO, +2H " (aq) + 2e
Cr,02" (aq) +14H " (ag) + 6e” = 2Cr* (ag) + 7H,0()

3H,C,0,(aq) +Cr,0> (ag) +12H *(ag) — 6CO, (aq) +2Cr* (aq) + 7H,0()
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